13.

60 - 8 =
GO®

17.

769 -0 =

A
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Minusrechnen

2. 3. 4.

392 - 19 = 490 - 20 = 272 - 18 =
BE (a6 &9

6. 7. 8.

891 -1= 334 - 18 = 8-5=
99649 (9988 ©®

10. 11. 12.

632 - 18 = 362 - 9 = 857 - 12 =
6965 9843 896

14. 15. 16.

457 - 7 = 930 - 13 = 19 - 6=
69842 019 ®E

18. 19. 20.

9215 -5= 273 - 2= 558 - 2 =
D ELd) 04989
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Ubungsblatt: Wéhle die richtige Lésung (minus Zahlen bis 20) |
ANTWORTEN

785 - 20 = 392 - 19 = 490 - 20 =

BE

5. 6. 7.
844 - 11 = 891 - 1= 334 - 18 =
808 890
9. 10. 1.
176 - 15 = 632 - 18 = 362 - 9=
614 4s4 353 248
13, 14, 15,
60 - 8 = 457 - 7 = 930 - 13 =
(s6)(52) 450,342
17. 18. 19.
769 - 0= 915 -5 = 273 -2 =

D Cld)

Minusrechnen

12.

857 - 12 =

16.

19 - 6=
®®

20.

558 - 2 =

0989
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